Sir Ellis Kadoorie Secondary School (Shatin)

Mathematics & Statistics (Secondary Six)

Test 2 (Exponential & Logarithmic Functions) (Answer)
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(b)
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2.
(a)

[image: image6.wmf]64

1

8

2

log

2

8

=

=

Þ

-

=

-

x

x


(3+2m)


(b)
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(a)
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(b)
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(c)
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(d)
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4.
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5.
(a)
Amount = 
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(b) Amount = 
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(c) Amount=
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6.
(a)
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(b) Let P(T)=8P0, we have 
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  Answer: It takes 75 years.
(1+1m)
7.
(a)
When x=0, P=2.72, so we have
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When x=15, P=9.54, so we have 
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(b)
(i)
At 1990, x = 20, we have
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(ii)
At 1995, x = 25, we have
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(c)
For any x, 
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Hence growth rate = 8.7%


(d)
Let it takes T years to double the population, then we have
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